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H2: QHMGHL) BWHE MBI JIg RFH(EZ/HDIS)

ol e iEgd 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
METHRAAI S A 10,835,446 4,399,801 6,435,645

= 850,000
Al 9,985,446
OFMGL) BEE MEXE DIt RE(EZ/HOIS) 8,328,214 3,865,478 4,462,736
= 850,000
Al 7,478,214
JEE g =23 3,750,958 2,992,677 758,281
gs - LB 22 3,750,958 2,992,677 758,281
201 Ler23 | 884,705 991,818 A107,113
01 At2t2ltl 185,508 189,173 A3,665
Ogit=3ZH| 9,708
cliEd E22= M
2,000,0002 %14 2,000
oMNFA HE AtUE FHI
3,000,000 *14] 3,000
oXgiEd HEd 28 =8 7Y 2,300
-NUES 3,000 *200H 600
— KISt 5,000 1005 Al 500
-2 2,000 «600H 1,200
oHIIZE 2 HEHE A
8,800 »1000H 880
ocHES UM =T (BD S 28 &5)
692,400 *2)H 2=+ 162 22,157
oXIots BAE F=EBA =2 (PH S 244
&) 1,300,000 43| 5,200
cEMEE NS ALY A2 +
== 701,2503 x 14 A+ 128 8,415
cEUNIEE WIS +=d4d| &2 +
== 200,580 x 14 + 123 2,407
cOSIHEE FE=+Held A=LH 5
SRt 832,500 x 14+ 123 9,990
o2 - FUNEE HOI= X2lAlE FDI
A =2 40,359,000& x14] 40,359
O=23+¢ 9,000
oUSHEE &N FUEAM 4+
g 100,000« 15 +63] 9,000
ogxz 49,800
o=ZAD|(8N) 1,000,000 302 30,000
cEIEZ(158) 660, 0002 *303] 19,800
2 s=5=34l 729,197 832,645 103,448
Os&sk= € MA 330,278
cUSHEE H&+ HAXC &3ot+=k
AEZ 2,439 x371m' 365 330,278
OAlZ &I Xl 186,627
oLSIHEE F A2l FAlHl
5,0002%1,000m* 5,000
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3 Gti) BAEH MBI D18 R=(EH/HIIS)
ol e iEgd 29 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 6.375 6.375
01 2LHoIH 6,375 6,375
Ogtdtl|ls &H3 &4
85,0003 x2ZH+32*13] 510
OHES 2TAMN 22
85,0002 x 12 *12x123] 1,020
OSIMUNBE SAME TEHE
85,0002 x2& x2 2 +42] 1,360
OsyR 2280l
85,0003 x2Z 12 %43 680
OYMARABAE 2289
85,0003 x22& 12 +32] 510
OHIISXCIAE FHISNH2HA HIPE
o & HII= BHEX 2ol
85,0003 x4 & 12 *32] 1,020
OZQINEM 912 WSE SEX Hat
olE 85,0002 x5 +32*13] 1,275
206 MH=H| 867,085 841,923 25,132
01 M=4l 867,055 841,923 25,132
OBES HUAE 7Y
722,190,000 *14] 722,190
O&FES & Kot +2HME Mz 7Y
4,500,000 * 14 4,500
OHM=M & 4,500 %27 H+33] 365
OHES Mol L WEREY T3 2
45,0002 %105 450
OF &= XMeld JHF =88 22 7Y
524,000& x14] 524
OHES MIALS L IIHB W 2
789,000 14 789
Ot U E HIIAE | B8 ©
Nx2E 7 1,500,000 *14] 1,500
OFMMEE yoiorE nel(2rE, L)
28,0003 »12| E£4%2,0007H 56,000
OBIEIYE F# ISXY Y 27 79
33,510,000& x 14 33,510
O A2 2 (S, H)
3,000,000 *14] 3,000
OBISHEE IHAZZAIEE Tt 7
40,627,000 x14] 40,627
OBIENYE B354 HelUE &Y 2
900,000 *4H 3,600
301 EetE2 N = 115,320 108,981 6,339
11 #AIAHIXIE S 3,825 3,825 0
OF2XZEAMIH e d8X A
85,0003 » 152 +3L 3.825
14 JIEt2 8= 111,49% 105,156 6,339
OHDISHMelAlE ol ZAIESHI(2E) 111,49%
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. otNGH] BHSH MEXR I8 RE(EE/HII2)
o Fetd Hgd 29 (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SRIE 85,960 *3%H 240! 61,892
oFsY 85,9603 x3Y «52%= 13,410
ogaRsd 128,940 3% x652 25,144
oASIEEE 11,049,000 & * 14! 11,049
307 212+01 A 150,000 150,000
05 CIZtRAErZ 150,000 150,000
OEAUHMNEE &&=+ /S|
12,500,000& x 123 150,000
308 AHXIHMSOIH 1,079,840 890,880 188,960
12 JIEtRE 3 1,079,840 890,880 188,960
OHYIZ MZ2RE3 15,8803 *68,000& 1,079,840
405 KR SHI 647,663 2,700 644,963
01 ML SEFHSHI 647,663 2,700 644,963
Ol =58 =) 647,663
o=Z&I|(1.6m) 408,823,000 = 1CH 408,823
o2=D|(1.0m) 238,840,000 *1CH 238,840
e & =4 2 orXMate| 4,577,256 872,801 3,704,455
= 850,000
Al 3,727,256
e HEdE =4 90,414 86,801 3,613
101 2124l 90,414 86,801 3,613
M IIZHHZ22 NS Es 0,414 86,801 3,613
O 240 & 24,755
cOE (0D & SYHOIR)
187,435 *5H x5 2 *33| 14,058
ocELU(0=D &Y SYolL)
187,435 43 x4 2 33| 8,997
SYNEIISE= R 1,700,000 * 14! 1,700
OCLESEE FHISX Y HAALS 59,976
ool 50,024
—E(ME FSE HE), 95,28
76,9603 5 120 46,176
-Hs 76,9603 x 18 50 3,848
oMEZz BMaY 3,952
—AE(ME FSE HE), 95,28
6,080& x5 x120 3,648
-gs 6,080 x1H x50 304
SYNEIISE= R 6,000,000 * 14| 6,000
OEUNEE =7 L 22LAEE o 5,683
ool 76,9603 *4H x5 2 *33] 4,618
oMEZ BNY
6,080 *4H x5 33| 365
SYNEIISE= R 700,000& * 14 700
OHSOHEHE AMIE Y 2 1,912,700 600,000 1,312,700




SA: MEXZAIE A
HzH: OrMGlD IS MEXR J|gt RE(EF/HDIIS)
ool DIRIE X4 2 otdael (crol: m2)
SA - BB -GS - MRAY - BES ofl b0 G o MimE=EY
401 A& H|ILE0HY] 1,912,700 600,000 1,312,700
01 Al&HI 1,903,350 595,680 1,307,670
OU=HEE MYAX SA
1,200,000,000& *99.64% 1,195,680
OO=SHE & AP X8 BSSAH
200,000,000 *99. 28% 198,560
OBISIIRIE & - SUR W HDAIAE I
HBAF AAIEH SY)
30,000,000& =14 30,000
OIS Z =5 H|AMZED| WH 2AH
50,000, 000& *98.92% 49,460
OSt=MEE E&E HelAlE JHISAE
20,000,000 *98.92%% 19,784
ORISINRIE SME UE - SUAE HXID
Ab AAIEH 24| 19,000,000& * 14! 19,000
ODIZHRE S4B NE - SANL ST
At 393,700,000 *99. 28% 390,866
03 A& 20HYI 9,350 4,320 5,030
OSt=0HE & HZLAEX SAt
1,200,000,0002*0. 36% 4,320
OCH=S0HE A AFH X8 BESZ Al
200,000, 000& *0.72% 1,440
OIS Z =5 HAZED| WH 2AH
50,000,000& *1.08% 540
OOSEE &= H2lAld HUISAH
20,000,000 *1.08% 216
OIS Z E-EH HZH - EQUAE &X2
AHO.72%) 2,834,000& * 14! 2,834
SLHHEH &4 2,074,142 0 2,074,142
= 600,000
Al 1,474,142
401 A& HILE0HY] 2,074,142 0 2,074,142
= 600,000
Al 1,474,142
01 Al&H| 1,992,800 0 1,992,800
OZUMHEE =& SESAH
2,000,000,000& *99.64/100 1,992,800
= 597,840
Al 1,3%,960
02 2teldl 74,142 0 74,142
O E =2 SHESAF Hl&F HEAL
gzl 74,142,000 %14l 74,142
03 A& 20HYI 7,200 0 7,200
OZUHMHEE =& SESAH
2,000,000,0002%0.36/100 7,200
= 2,160
Al 5,040
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HM: OFMGHD BXE MEXR DIt RE(2Z/HIIS)

Hel HEd &4 & ord2e] (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SSSHAE BAsE N 500,000 0 500,000

= 250,000
Al 250,000
401 AlZHIZ S 0HbI 500,000 0 500,000
= 250,000
Al 250,000
01 A28l 474,950 0 474,950
OFBIIZAIE SASEY MTHHUUXI(EH e
Z) XA 460,000,000 %99.28% 456,688
= 228,344
Al 228,344
OBZIIEAIL BIAZE AT (B
Z) 23 AAEH 2|
460,000, 000& *3.97% 18,262
= 9,131
Al 9,131
02 Zeltl 21,738 0 21,738
OFBIIZAIE SASEY MTHHUUXI(EH e
Z) & AAIAE 21,738,000& * 14! 21,738
= 10,869
Al 10,869
03 Al 20HHI 3,312 0 3,312
OfHEI|ZAIE EtASE MTHAOILXI(ER
Z) "X A 460,000,000& *0.72% 3,312
= 1,656
Al 1,656
YA ZHI (MBI A A) (OIEHDIE) 295,732 319,323 N\23,591
el 2| 118,416 138,535 220,119
el 24| 118,416 138,535 220,119
101 @124H| 118,416 138,535 A20,119
02 JIEtM = 73,869 72,689 1,180
OBRZE NUD24Y 212 42,06
>z 12, 1192+ 124457 Al 2H 1204 2 8,290
oZAt 11,2723 x1&+57 Al 2t 1200 2 7,711
o=& 9, 52334 *57 Al 2t 120 2 26,055
OZEZE R22R>E 11,864
oZA(2E) 97,4173« 1 x4 2,339
o AHRIE) 90,6102 x 1 »24 2,175
o=3(28) 76,5503 x 18 24 1,838
o= () 76,5503 x3& x24 5,512
OFEZE OfA22+E 19,949
oH9I(0rE)
4,040~ 1H+BAI 2++3652+1/3 3,933
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M HZYRAZHI(MSUHRAGA)(OIEHIIE
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S2H(EE)
3,757 &+ 1H+BA| 23652 +1/3 3,657
oz(2te)
3, 1743+ 1H+BA| 203652 *1/3 3,090
o=Z(8U)
3, 17433 +BA| 2H+3652%1/3 9,269
03 SRH(RINAHA) 222+ 44,547 45,014 Vavilerd
OAlIZRAZ 25 27,638
o<LBAHT
14, 7143 +4H+20 Al 2t 1200 2 +150% 21,189
o0t
17,9123 x 1 *20A1 2++ 1200 2 +150% 6.449
Oozdz2®=g 16,909
oliEd =Had & MEsd Jil
182,2003 x3& »2 1,094
oligd ¢4 204,780 x2H + 13 5,325
odZ2 HIIESXtE 2l
187,304 x2 & 28 10,490
Jl=3H| 177,316 180,788 N3,472
Jl=23H] 177,316 180,788 N3,472
201 er2&| 164,669 168,029 23,360
01 At2teltl 58,320 59,510 A1,190
Odit=ZH| SHAY
12,040,000 * 14 12,040
O2g=g %A 28,860,000 x 14 28,860
OlLl=Hl S4AHI& 2,500,000& *14] 2,500
OSgHtl S99 & 14,920,000 » 14 14,920
02 S3=4gHl 106,349 108,519 A2,170
Os&2= & MM SHAHY
102,813,000 *14] 102,813
O ZHl SHH & 3,536,000 14] 3,536
202 04| 7,114 7,259 A145
01 =LHO LI 7,114 7,259 A145
SNE2E SYAHY 7,114,000 14| 7,114
203 HR=AH] 5,533 5,500 33
02 H3AItaHH 25 &| 733 700 33
OMSTHEAIE A X2 ADIRE BH(FH 2
7E) 733,000 14 733
M FAZHHIFII 4,800 4,800 0
OHETZA SN (HH 27Y)
400,000 123 4,800
eSS (M AAALA) (BB /HDIIS) 2,211,500 215,000 1,996,500
WA XIE 2,211,500 215,000 1,996,500
WEHHXIZE 2,211,500 215,000 1,996,500
@RJ1sdEs 2,211,500 215,000 1,996,500




ST METIRIARA
TR WPES(METBAMLL) (2B/HII2)
&2l LHEHAHXIE (St &)
- _ q
SN - HE - S9I(E) - MIRAY - BAS of & e HIDS2
UIPIETSE—= 2,211,500 215,000 1,996,500
ORIZEHYHFHYSNAFLANAIIZ &
£ 2,211,500
ol Hesrz 10%
25,0003 +60,000=*10% 150,000
oSgE0=s 2,061,500,000& *14] 2,061,500




